1 1| (Mol L 4B 4 B 80 P 0

Wi 108 40 @
2005 & BI%H [EMEEED) HBME 115 158(Mue) o% 108 2%
¥ H B R (#72) 8 W ¥ bl ok JERE 33 b = WL F A AL [ e ]
~d€TIL. R
2 U owel. BRreT | L 2THE-
B 2 i [P 2| ALy 3. @D
e e — = _ . .
HES E# £ 550 (> wa
¥k [ ]
1. 1 H(m)
Y s(kN/m?)
Y w(kN/m’) Ko=1/2 Ya Yw H
Ow= Y« H (KN/m?) U= VYw H (kN/m?)
0 'vw= Ysa Yw) H (kN/mz) O'vo= V2 Yeaa Yw) H (kN/mz) 3x 5 15
Onw= 12 Yy Yw) H (kN/mz)
2. 1 2 2 2
Uo
p1:(0- 11+20- !3)/3 qzo. ,]_ G 13
e =M p'(M>1) e=I -A logep’ 1 3
M T A &
(1) 2d) 2 A B 1
y 2: — 2
& > -\ logepy
(2 A 2(a) 2(b)
=M-exp(4r_,1e*°) (kN/m?)
o ’1u:¥~exp(r;7e°) (kN/m?) 0 '5=3M %)(kN/mz)
° 1u=%(7sat+7w) H+M - exp(—) (kN/m’) o 3u:%(7sat+7w)'H (kN/m’)
5x 7 35
U= + 1) H 4 ep(—2) (KNI
(©) B 2(a) 2(b)
— 3 _
Pd=—— E(M 7)-H (KN/m?) q—— —(ysat 7w)-H (KN/mM?)
0 1= 22 )oK (KN/) 0 5= (e —r)H (KN/P)
3+2M 1 1
0 1= S e ) H oy H o (KN/MY) O 52 (e +7u)-H (KN/MY)
3
U=rH (kNI 0= 1= 2100, { 522 e )
5x 8 40
O >0 o
lTo
(e) h v
O
o 1 - H AR TR CWHR
(b)



